RiCNimcw‘to S’Eutl&u ¢ —lm,av‘t edf 2'{ a—eun.»‘o 202,5

6(3/623) / V. X+3y-—¥=27+2+3=o}
i 3x+224M3=0 —> (a,t,2)=(3,0,¢)
T: Aem ; vy, vow'

Aer' = T'e S(A) = ! a(x-9)+b(y- (T )tc(2-23)c0

413 0 /'Z: >
r: o 2 4 —> s —~A
\>M=L

V//Tr' L= o(.e-l'bM--FCM:o 4= 3a——b +Zc =0
b=3a+2c
fT'.L'iI’ L=Y a?&*krn&o ('-‘-7 3a.+o‘>+‘l.c=o
3a+lc=o (a.,c):(,?,-—'i)
U]
bz=o
a(x-a) + lo(\/-\f?).l. c(%-u).—_o

1.(x-9) +0.(y-v5)-3(t-13)=0
(.?n —32 +51 =0

A('fo)m,?)/’ r:\/=x—2=o/' B,CGV'
tali  che Afi\c FQUILATERO



h
Lah o7l —= L.y

3 TREREEREE
refees
+B('1°I?) —_ B(f/ OI ?\
4{“(8’0’?)

>




aal ¢bb!ece!
Uf'”’t .J&')‘.l.(:,')’-.«-{c'}z

[epia V1. %o —> (o' ¥, c')=(4,0,0)
Il(o., 1¢) L ot

~ A('t/o,o)l' 8(0,-2,0) ; ¢(0,0,¥%3)
//\ [84] - (t,/¢) ;(8¢]+(o,2,®)
BA]/\[BC [:’ :‘;_;.‘:(.\2/\[33-/ ~t zzjéi)

a. b C

%—-TF pAd = 4lo - co;(ot;ﬂ]=._.:‘z.

cos (.(T/s\ = ¢t

"

(%)
(a.')k',c')-:(»{)o, o)

Ll

"'VS?. 423t + ¢t

= JSZ-I-'LH‘ =+ 4-,)73_

92 +2+t" = f4-23 = 369

=
z

93t 3Cp-92 = 2%4
gt', 92 £, 3 toz (e
7 3

4 -t 2
A::[O - f‘t_,‘)] t€m,

o (o



U !
mo (1) <2 Mq(Rl

A-éJ'Ca.ru-a.(f-t%wale L= /V(A% (4) =
/VVLQ("): 3 "'V?(A*’f’I)_—: .Z =>

o -t z 7

r?r(AM-I)-;/T =Y Vg/[g =6 (43 oA >

't ~t 7 ]
ik ”X[ & (¢- n] A= ML-g (¢4)|T° =

=5 —t(t-4) +1tz0 = —1t4 4t 14220 =

= tl 4t —arz0 = (t-é)-(t+7_)=o =
t=¢; Lz

ViX+4=244=0 ; ABcariel :
d(A’V‘).-.J(B,Y):S



r

v X=-%
24
__)

,°,"'4)=K Y J(K,V\:lf(S

A,Bca.ue?: . x=Yy=o0

A (o,o,zg) H(— 4,01-4\)
(4

d(AH)=5 = [d(am)] -

Ao,0,-4) ) B(90,2);

/O\(?—‘ﬁﬁ_, 7-,-'5)) Y. X=2+%t=0

H protewse & A 5o v = H(0, 2  -3)

A
BGY' tale cle a.veaAHB = 3)/3_
t 1

Bev =5 B(O/ 7 )—?')




HM—'DB
A(zm, (¥ —5) — 2® A v A

; - J
H(o, 1, -3 ‘n{. avea. Awg= I3
B(O,/'S’-'ﬂ ;\ aveo./-\fi\s :'_{i-»elq

h=d(a,n) =404 +4 ={Hoz =6V3

Ledluplsfgmar = [p]
I3 =L |plb

BI(O/"II-‘-&)

C(4-%)-46) 5 Al4,-47,-40); sfernS
C ceutrs y'ee.va- ) AeS
,IT/P{M 'La..Y,J'- o S vwé 'ou.,\(: A

m Acr = a.(x—‘f)-f lo(\1+n]+c(e+:o)=a
*C [EE] r (21 f;"cé)
L

@/: 5-7—6-%=o{

s(ytn)—6(t+to]=o




Y . 3X ™ {f'y — 5 =0 drt'rc H n'ce r-'uVA[‘o,e 'oa,.r.pa\,.('
per O(OIO) Cow #u.ool‘—' o~ ayst )( ]

Trovave wov&.u“\’- dw Fuocki ,

F

(%9 d(0,F)=d(o,")
01(0,")«:d(o-—a()'l-f(c)«o)‘t = ‘FL_"_:[,,(I

3.0-40-% $
d(o,v):lo l=_l_i_._,_5__=4
V3tel-0 5 >

Fe(-1,0)
(= => ol=%q 7
| ~ F (+4, 9]

—

ﬂlgx-l-g\,‘l'?‘i-'“ﬂo Q(O 0/2)

a;u"f: 3<=7=o
. Ocyr £ v 1L 7' -»Hx+27+3=o

h=d(A,r) B,Cecv  d(8A)=d(¢,A)=bh

Agc = 1

avea BC = !

7
Y-Mt + o 1L
AN r:{ y=tt+o Vil yaed
4:%:9 Eeortro AL

! .

V‘-e}m vett o dL plows XY - z<o0
'oa.flk‘{- rf/\. I’ON'y«c 0




A(O 0)"-]
\ / het = ¢h=¢
{Dtaw XY ixeo
1:“8"-&" :J?o—; L-y15
4 A
[P~
N r
£

Aavea A%C = ?.'(Z-J;?): 4J7;—

A ({z_, °:°)) B(OI 4)°)) C(O/ 0/-‘6)

A
A,B,C € /“\J / ’lrl—-: r)l'a.M yz'/ 0/’—' 1'!',17"/'

= pioe Y 0 xeo = (b, er]o(4,0,9)




C0$(9/= +

COS(j’: +

@/: 60 y

a.-a.l-t"o-L'JC-c'

d;\tlat-*c" ) ﬁal)l_‘(hl)z.‘[el)t
-V'T '
NT VT Y

(9':— 4110°

4\
RN




